1.2

Def.1 X d d:XxX >R
1 d(x,y)=0<=x=y
2 d(x,y)=d(y,x) Vx,yeX
3
d(x,z) <d(x,y)+d(y,z) VX y,zeX
vx,ye X d(x,y)=0 Z=X
0=d(x,x)=d(x,z) <d(x,y)+d(y,z)=2d(x,Y)
Def2 d 1 X,d X,d
X.
S 2
Ex1 R" d(0Og, %), (Ve Y = [ 2 (% = i) d
i=
E"=(R",d) n
Def.3 (X,d) xe X,e>0 X
B(x,e)={ye X |d(x,y) <&} X £
Lemma (X,d)
U= B(Xl’gl)n B(Xz,gz) VxeU
e =min{g —d(X, %), &, —d(X, %)}  &-d(x,%)>0 (i=12)
g,>0 B(x,&,) cU U =[] B(x &)

xeU

Pro. r3={U|U (X,d) } g X



74 (X,d)

(X’Td)
Question (X, p) p'(x,y)=%, (X.p)
(X, p)
(1) p’(x,y)=M= p(x,y)=0 X=Y.
1+ p(X,Y)
, _opxy) o oply,x)
2 p(x,y)—1+p(x’y)—l+p(y’x)—p(y,X)
® T0)= [0+) p(%,2) < p(%, ) + p(y,2)
+ X
pxz) = L% pY)+p(y.2)

1+ p(x,2) 1+ p(x%,y) + p(y,2)

_ p(xy) N py.2)
1+ p(X,y) + p(y,2) 1+ p(X,y)+ p(Y,2)

< Py - ply.2)
1+ p(xy) 1+p(y,2)

(X, p")

=p'(xy)+,'(y,2)




